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TR Gesn | s | me | em |B RRAER
1 bk Y ARG X-8DF 507 | WEHT 74.8410
2 fax T [t yA=Y A X-8D#k 604 | WiEMIT 74.8410
3 i YAEYA X-8Dk 804 | WiREWIIT 74.8410
4 [ESD YAEY A X-8D#k 904 | WEMNT 74.8410
5 Hx FIATE N X-8D#: 1104 | HEFHT 74.8410
6 X% JELAE yA=Y A X-8D#k 1302 | =5EWIT 90.4094
7 Pty FIATE N X-8D#: 1404 | HEFHT 74.8410
8 B RexE AEREAT X-8D# 1504 | PiEMIT 74.8410
9 X5 FIATE N X-8DF 1704 | WiRwfT 74.8410
10 | it f AR AT X-8D#k 1804 | WiEWIT 74.8410
11 f* FIATE N X-8D#: 1904 | WiRHT 74.8410
12 e yA=Y A X-8D#k 1907 | WEWIT 74.8410
13 Wik it Y ARG X-8DF 2104 | BEHT 74.8410
14 Bk kg yA=Y A X-8D#k 2204 | WEWIT 74.8410
15 Sy WAL X-8DF 2304 | HEHT 74.8410
16 €33! yA=Y A X-8D#k 2307 | WEFIT 74.8410
17 | #9E Fesdid YAEYA X-8D#: 2404 | WEHT 74.8410
18 XIJs yA=Y A X-8D#k 2604 | WEWIT 74.8410




